Assignment

Draw a graph for each inequality.
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ID: 1

Period

Name
Date
1
2) Xx<-1—
2
N -3 —:2 -1 (:) 7
1
4) 2—<-a
2
N -3 —:2 -1 (:) 7
1
6) —2—>-Xx
2
S S ?
8) —1>-x
S S ?
10) -n>-1
A S S ?
3
12) ——<—x
2
N -3 —:2 -1 (:) 7
14) -2>-v
N -3 —:2 -1 (:) 7
16) -2>-b
N -3 —:2 -1 (:) 7
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Answers to Assignment (ID: 1)

D ot ———+—> 2) <ttt o>
3) e EE: a0 1 2 3 7 4) f—'3 2 a1 0 1 2 3
) Ao O E——4—— e
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11) i —j——— > 12) dmi—j———) —————>
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O ——t—— A O
13) . -3 -2 -1 0 1 2 3 14) . -3 -2 -1 0 1 2 3
15) H—4————¢=—+> 16) ¢H—4—t———C=—t>
17) SH—4————C=—"> 18) A——————+>
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ID: 2

Name
Assignment Date Period
Draw a graph for each inequality.
2) 1<x
1) r2—2l )
2 ya } } } : } } } N
N -3 -2 -1 0 1 2 3 7
N3 ) -1 0 1 2 3 7
1 1
3) n>-2— 4) -1—=n
2 2
N -3 -2 -1 0 1 2 3 7 N —:3 -2 -1 0 1 2 3 7
1
5) —v>2§ 6) 2—<-n
N -3 -2 -1 0 1 2 ; 7 N -3 -2 -1 0 1 2 3 i’
1
7) —~v>-2— 8) 2—<x
3 2 a0 o 1 2 i S3 20 4 0 I 2 37
10) —p> -1
9) m<1— )P
N -3 -2 -1 (:) 1 2 3 i’
N3 ) -1 0 1 2 i
1 12) k>-1
11) 2—>-m )
2 ya : N
N 3 -2 -1 0 1 2 3 7
N -3 -2 -1 (I] 1 2 3 i’
13) r<-1 14) —-1>-n
N -3 -2 -1 0 1 2 ; 7 N -3 -2 -1 0 1 2 3 7
15) -1 <-m 16) x<-2
N -3 -2 -1 0 1 2 3 7 N -3 -2 -1 0 1 2 3 7
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3 18) -2 <—x
17) ——=>-n )
2 pd : N
N3 -2 -1 0 1 2 3 7
DS T S S
19) -2>-v 20) 2>p
N -3 -2 -1 0 1 2 ; 7 N -3 -2 -1 0 1 2 3 7
21) 2>k 22) —-n<2
N -3 -2 -1 0 1 2 3 7 N —:3 -2 -1 0 1 2 3 7
23) —-n<2
) 24) x<-2—
N3 -2 -1 (:) 1 2 3 7
N5 ) -1 0 1 2 3 7
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Answers to Assignment (ID: 2)

D) HA-op—t—t—t—> ) H————Oo——>
5) A-Ot——t—t—t—t> Y St ———+—>
5) -:1 (:> 1 2 3 7 6)f-3 2 4 0 1 2 3
7)‘ -'2 -'1 6 i 2 3 8) ~3 0 5 4 0 1 2 3 I\
9)‘ i) ‘_'_|_> 10)‘-'3 2 -1 0 1 2 37
11)<—|—o-|—|—|—|—|—|-) 12) €O i—t——_
0 3 -3 2 -1 0 1 2 3
13)(-|—|—. } : : > 14) <+ } } Gl
0 3 -3 -2 -1 0 1 2 3\
15) e 16) € —+—+—+—+—+>
: : } } W—H
17) -2 -1 0 10-5_;-’ 18) —.3 —.2 —.1 0 } 2 3\
19) F——4——1—=—1d 20) bttt —1>
2) > 2) ¢4 —4—t—t—t—t—">
23) Gttt 24) € —————1>
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Assignment

Draw a graph for each inequality.

1
1) 2—>—x
2
N S ?
1
3) 2—>x
2
NS —:2 —:1 4
5 n<2—
S 3 —:2 —:1 -
1
7) 1=<n
2
NI ?
9) -x<0
S 3 —:2 —:1 -
11) -n>2—
NS —:2 —:1 e
13) r>1—
S 3 —:2 —:1 -
15) n>-1
NS jz —:l 4
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ID: 3

Period

Name
2) —x> —2l
2
NS jz -1 e
4) -b<1—
N3 —:2 -1 -
1
6) p>1—
) p=17
N -3 —:2 -1 e
1
8) 2—>-m
2
N -3 —:2 -1 7
1
10) —<—r
2
N -3 —:2 -1 7
12) 0<m
S 3 —:2 -1 -
14) -n< -1
N -3 —:2 -1 7
16) -b<1
N3 jz -1 -
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< 0 i’
3 -2 -1 0 1 2 3
23) 2>a
24) -a>-=
. N
< i T T T > -
3 -2 -1 0 1 2 3
ya t >
< ) ’
3 -2 -1 0 1 2 3
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Answers to Assignment (ID: 3)

1) € @mjmm —_— 2) frme el ) —}—3>
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) S —— o> 10) ettt ———>
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17) di———— > 18)(-|—|—o—|-o + t >
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ID: 4

Name
Assignment Date Period
Draw a graph for each inequality.
1) 2<—x 2) —p=>2
N -3 -2 -1 0 1 2 3 7 N —:3 -2 -1 0 1 2 3 7
3) 2<x
) 4) -n>1—
< : >
-3 -2 -1 0 1 2 3
N -3 -2 -1 (I] 1 2 3 i’
5 1—<-v 6) -n>1—
N -3 -2 -1 0 1 2 3 - N —:3 -2 -1 0 1 2 3 -
1
7) 2—2>X 8) k>—
2
N -3 -2 -1 0 1 2 :E) 7 N -3 -2 -1 0 1 2 3 7
9) —<—Xx 10) x<1—
N -3 -2 -1 0 1 2 3 7 N —:3 -2 -1 0 1 2 3 7
11) -1—<-m 12) -1—>x
N -3 -2 -1 0 1 2 3 - N —:3 -2 -1 0 1 2 3 -
13) —2>-n
) 14) x<—
> -3 -2 -1 (:) 1 2 3 7
N -3 -2 -1 (') 1 2 3 i’
1
15) a<— 16) —lzg—a
N -3 -2 -1 0 1 2 3 7 N -3 -2 -1 0 1 2 3 7
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e } >
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N , 4
-3 -2 -1 0 1 2 3
22) —x>0
21) ——>—x
ya } >
N B 4
3 ) -1 0 1 2 3
ya t >
N B i’
3 -2 -1 0 ! 2 3
23) a<0
24) v<——
ya t >
N , i’
-3 -2 -1 0 1 2 3
ya } >
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3 ) -1 0 1 2 3
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Answers to Assignment (ID: 4)

D) E——t————+> D= —— 1>
2 H—t—t o ; ?—2': ‘6‘;"'3—'2"1 — 2 1
-3 -2 - 0 1 2 3 -3 -2 -1 0 1 2 3
7) ‘—:3 —:2 -1 0 1 2 ._g? 8) <,—l3 —:2 —ll (:) C 1 2 3 ’
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Assignment

Draw a graph for each inequality.
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ID: 5

Date

Period

A\ 4

\4

A\ 4

A\ 4

A\ 4

\4

A\ 4

Name

2) Xx<-2

S 3 —:2 -1

3
4) ——>-a
2

N -3 —:2 -1
6) 2<p

~ 3 —:2 -1
8) 2>-r

NS jz -1
10) 2>m

S 3 —:2 -1
12) -n>-2—

S 3 jz -1
14) —p<—

) —p 5

S 3 jz -1
16) -1—<n

S 3 jz -1
18) -k >-2—

A\ 4

A\ 4
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< T 4
3 -2 -1 0 1 2 3
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< T 4
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Answers to Assignment (ID: 5)

D) == O D= —————1>
3) SOt —— ) S —>
5) €= ‘ ‘ ‘ p————> 6) €O} d 4 ‘ -
s 2z S 4 . & 2 <t & o 1 2
D) & ————> §) A— @ttt ’\
9) € 3 2 4 0 1 2 3 10) € 3 2 1 0 1 2 37
11) <+ } } M 12) M
-3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
13) HM 14) < } } M
-3 -2 -1 0 1 2 3 -3 - - 0 1 2 3
15) di———————|— 16) €t O mi—i—t—r—_—
1 0 1 2 3 -2 1 0 1 2 3
17) i ———O——> 18) ‘i —f—O——>
cn 2 S 9 G 2 2 o oS 0 . 2 2
19) F——4—4—+—4-0=4> 20) H—————+O0=d
2l) A——— 1> 2) )
23) e 2) o — 11>
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ID: 6

Name
Assignment Date Period
Draw a graph for each inequality.
1) n<-1
) 2) ——>-V
DR S S
N -3 -2 -1 (I) 1 2 3 7
3) x>-1 4) -1<-b
N -3 -2 -1 0 1 2 3 7 N -3 -2 -1 0 1 2 3 i’
5) x>-2 3
) 6) ——>X
N3 -2 -1 (:) 1 2 3 7
S5 o2 a0 i 2 37
7) ——<-p 8) r<——
N -3 -2 -1 0 1 2 é 7 N -3 -2 -1 0 1 2 3 7
9) -m>-2 10) -n>-2
N -3 -2 -1 0 1 2 3 7 N -3 -2 -1 0 1 2 3 7
11) k<=2 12) 0<x
N -3 -2 -1 1] 1 2 3 7 N -3 -2 -1 0 1 2 3 7
13) 2<-n 1
) 14) -2—>b
N3 -2 -1 0 1 2 3 7
N -3 -2 -1 (I) 1 2 3 7
1
15) x>-2— 16) —b<25
N -3 -2 -1 0 1 2 é 7 N -3 -2 -1 0 1 2 3 7
1 1
17) 2—<-a 18) Zgz—x
N A " 7 N5 2 (:) 1 2 3 7
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1 1
19) x<-2— 20) 1=<-n
2 2

ya N 4 N
\ L] L] L] L] L] L] L] / \ L] L] L] L] L] L] L] /
-3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
1 1
21) 1=>p 22) —-n>2—
2 2
4 N 4 N
S 17 T T T T T T 7 S 17 T T T T T T 7
-3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
1
23) —<-r 24) n>1—
2
4 N &1 AN
N d N T L
-3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3

2 gagsve path-gssrsheel.ory

math-worksheet.org



Answers to Assignment (ID: 6)

1)‘—:3 a3 5 T ii 2)<—:3 o 5?
) e H =t
5) HA—g=t—r—— > 6) €= t——1+—+—1>
7) et 5) ottt
%) ottt —t—e—> 10) 1
1) 4——— =1 12) A——— ">
13) —s—————b> 1) et —t——+——

[
(9]

A
[
=)

N

-3 -2 -1 0 1 2 3\ -3 -2 -1 0 1 2 3
17) =t ———+— ¢ 18)<__'3_"_'2_.'1_8_2_§_§'f
19) 4ot ——t——+—> 20) et ————>
2D ————ot—> 2) 3ot —— >
25) et ) e
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ID: 7

Name
Assignment Date Period
Draw a graph for each inequality.
1 1
1) v>1— 2) v>-1—
2 2
N -3 -2 -1 0 1 2 3 7 N -3 -2 -1 (:) 1 2 3 7
3) b>0 1
) 4) 1—<n
N -3 ) -1 0 1 2 3 4
< : >
-3 -2 -1 0 1 2 3
5 —n< 1 6) <X
2
N -3 -2 -1 0 1 2 ; 7 N -3 -2 -1 0 1 2 3 7
7) -1>-k 8) p>-1
N -3 -2 -1 1] 1 2 3 7 N -3 -2 -1 0 1 2 3 7
9) ——>-x 10) k<——
N -3 -2 -1 0 1 2 3 7 N -3 -2 -1 0 1 2 3 7
3
11) m<—— 12) —EZ—n
N -3 -2 -1 0 1 2 3 7 N -3 -2 -1 0 1 2 3 7
13) n>-2
) 14) —x>——
N 3 -2 -1 (:) 1 2 3 e
N 3 ) -1 (') 1 2 3 e
15) -r<2 16) x<-2
N -3 -2 -1 0 1 2 ; 7 N -3 -2 -1 (:] 1 2 3 7
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1 18) 0> -a
17) 2—<n )
2 4 : N
S -2 -1 0 1 2 3 7
DR S S
1
19) 2—>x 20)5<x
\—3 -2 -1 0 1 2 .is e \—3 -2 -1 0 1 2 3 7
21) —x<1— 22) -1—<m
\—3 -2 -1 0 1 2 ; 7 \—3 -2 -1 0 1 2 3 7
1
23) -m>1— 24)5>x
\—3 -2 -1 0 1 2 ; 7 \—3 -2 -1 0 1 2 3 7
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Answers to Assignment (ID: 7)

D I O'Q_?f 2) N >
3) f—'3 S5 a1 0 i 2 5 7 4) :—'3 Y] 0 ; 2 3 :
SR TR T T W T ROR TS T T N T 4
7 A= => I T S T ;’\
) A 10) =0 ——+——+>
11) €= Ot——+—+—+> 12) t—t—— ==
-3 -2 -1 0 1 2 3 - - - 0 1 2 3
- e } } } >
15) _ 2 -1 0 1 2 3 16)«_—. 1 0 1 2 3
<« } } } } F—Omujmi <« } O ———
17) —.3 —.2 —.l (.) 1 2 3 18) /_ - -1 0 } % ?
19) dtm—t————————=t——> 20) €Ottt}
21) €At @t —_— 22) € Omi————
-3 -2 -1 0 1 2 3 « —.3 - —.l 0 . : % ? <
23) =t t——+—+—+> 24) =t +—+—>
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Assignment

Draw a graph for each inequality.

1
1) -1—>—x
2
S 3 jz j1 7
3) x>—
NS —:2 —:1 e
5 p<-2—
NS jz —:l e
1
7) —>-n
) 2
NS —:2 —:1 e
9) x<0
NS —:2 —:1 4
1
11) ——<—x
2
NI ?
13) -1<n
NI ?
15) x>-1
N —— ?

=
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ID: 8

Period

Name
1
2) b<—
N -3 —:2 -1 7
4) n<—-1—
S 3 —:2 -1 i’
6) —p=>-1—
N -3 —:2 -1 7
8) n>-2—
~ 3 —:2 -1 -
10) -v>0
N -3 —:2 -1 7
12) -1 <—x
NS —:2 -1 4
14) 1 >
) p
S5 2 4 ’
1
16) ——>k
2
S5 L] 7
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4 N\ 4 AN
N 7 N L
-3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
19) 2<-b
20) —p>-——
4 1 N
N ' 7
-3 -2 -1 0 1 2 3
ya 1 N
N ! 7
-3 -2 -1 0 1 2 3
3 22) a>-2
21) X>——
2 4 1 AN
N 1 7
-3 -2 -1 0 1 2 3
4 1 N
ST T T T T T T 7
3 ) -1 0 1 2 3
3 1
23) v<—— 24) —p<—
2 2
4 N 4 N
ST T T T T T T 7 ST T T T T T T 7
-3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
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Answers to Assignment (ID: 8)

h ————o—1> 2) $—p—t—pe-t——p>
A DEIE B et ¢ S ¢
DS DN S S S —— o L2
7) A Os=——t—t—> 8) HOt——t—t—t——>
) b——t——— > 10) d—p—t—t——— 1>
11) Gi———(——} ! > 12) dmim—j—j— >

¥}

—

o

—
W

w'LI»

&)

L

=

—

&)

w

—
o
—
(=]
w
|
|
|
—
—
(]
w

17) <_E3 _:2 _: (f) } 2 3 « - -1 0 } 2 3 «
19) 4= RN ? 3, 20) € - io; 3,
2D) H—om—m———> 2) A —g—t————>
By S——— o7 A SO 11
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ID: 9

Name
Assignment Date Period
Draw a graph for each inequality.
2) 2<X
1) -n> 1l )
2 ya : N
N 3 -2 -1 0 1 2 3 7
N3 ) -1 0 1 2 3 7
3) -1=<r 4) -2—<v
N -3 -2 -1 0 1 2 3 e N —:3 -2 -1 0 1 2 3 7
5 n>-1— 6) -x>-2—
N -3 -2 -1 0 1 2 3 e N —:3 -2 -1 0 1 2 3 e
1
7) k>-2— 8) 252k
N -3 -2 -1 0 1 2 ; 7 N -3 -2 -1 0 1 2 3 7
9) x>2— 10) -m<-2—
N -3 -2 -1 0 1 2 ; 7 N -3 -2 -1 0 1 2 3 7
1 1
11) 1—<-x 12) —252—b
N -3 -2 -1 0 1 2 é 7 N -3 -2 -1 0 1 2 3 i’
1 14) 0>a
13) —<v )
2 4 } AN
N -3 ) -1 0 1 2 3 4
N -3 -2 -1 (') 1 2 3 e
16) -k>0
15) —a<2—
N 3 -2 -1 (:) 1 2 3 7
N -3 ) -1 (') 1 2 3 4
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18) -n<-1

17) -n>—-—
i } >
N B 4
3 -2 -1 0 1 2 3
ya } >
N B i’
3 ) -1 0 1 2 3
20) -1 >—x
19) x<——
i } >
N B 4
3 -2 -1 0 1 2 3
i } >
N B i’
-3 -2 -1 0 1 2 3
21) ——>p 2y
. L\ & >
N i N ’
3 2 -1 0 1 2 3 -3 2 -1 0 1 2 3
23) bs_> 24) v<——
. L\ & >
< 3 7 ) ’
e 0 1 2 3 R ' 1 i 3
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Answers to Assignment (ID: 9)

) é—to——+—+— DA+
3) ¢———@=t ; = 4) €+0= ————
-3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
5) €4+—+O=t ‘ = 6) =@ — >
-3 —.2 —.l (.) 1 2 ? —.3 -2 —.1 (.) 1 % 3
7) o3 2 -1 0 1 2 3 > 8) ‘/-3 2 10 1 2 3
) A0 10) H—4—t———1+0+>
1) €=ttt ———1—1> 12) ———1——1+>
13) <« } } —Om——— 14) d—t————— } >
-3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
15) €O ————_— 16) di——j—j———+ } —>
-3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
17) dim—l—t—— } > 18) <+ t } —
————— 1+~ > S ——
19) &=ttt t——1—+> 20) &3—t—d——}—O==pm—t=>
: : } t : > A= ¥ ; ;
21) ‘—3 -2 -1 ‘ 0 1 2 3 . 22) -3 -2 -1 0 1 2 3 ?
S T 2 T T T T WMot
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Assignment

Draw a graph for each inequality.

3
1) -b<——
2
S jz -1 7
3) -2>x
S jz -1 7
5 x<-1—
\—3 —:2 -1 7
7) X<-=2—
S 3 —:2 -1 -
9) 21< p
5=
M3 L 7
1
11) —-a<-2—
2
N 7
13) n>1—
S 3 —:2 -1 -
15) 1=>v

=
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ID: 10

Period

Name
3
2) ——=>-n
2
N -3 —:2 —:1 7
1
4) -1—<-b
2
S 3 —:2 —:1 i’
1
6) 2— > —Xx
2
S 3 jz j1 -
1
8) 2—>a
2
N -3 —:2 —:1 7
10) 2<-n
AR 2
1
12) -v<—
2
S ?
14) 1—<n
NS —:2 —:1 e
1
16) k>—
S5 ?
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. N\ & >
< 3 7 ) ’
3 ) -1 0 1 2 3 -3 ) -1 0 1 2 3
20) 0<x
19) -n>—
ya t >
N B i’
3 -2 -1 0 1 2 3
s t >
N ) ’
3 ) -1 0 1 2 3
21y Lo x 22) m>——
. N\ & >
N ;s 7 ) ’
+ + + ¢ ; + ' 3 ) -1 0 1 2 3
1 24) -1>-b
23) x<——
2 < ' ’
N 5 4
3 -2 -1 0 1 2 3
ya t >
< i T T ’ > ik
3 ) -1 0 1 2 3
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Answers to Assignment (ID:

D SH————O01—+>
Do ————>
) G
7) ot —————t>
) ——t———te—+
) S e
13) G————+e—tb
i ¢
17) €ttt
e o i

o
23) ottt —+—+—>
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D Gt r—rd
4)( 2 -l 1 3 7
6)<—|—C -+ ; ->
8)(-l-c + g >
10) —e—t—t—+—+—1
12) <+ } O ————
-2 o ° 1.2 2
14) H———F—4-O==—1>
16) ¢+— =

-3 -2 -1 0 1 2 3
18) i ———t } +—>

> 2 4 2 1 2 2
W) S e——
Do
WS
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